2RXS J175341.7+654242

gamm*bbdy

0657

930521

- - =
IR (TR RN O N A (TR RN N A (1IN B A [T
‘P T ) T
o (@] o o
L o | L o | L | L o |
(A93 s ywd)/suojoyd
O 111 111 B 1111 O 1 LA R

—

— ]
ST (TR NI N AN (TR W8 MO (1T W O O O N (TN AN
G 7 b ‘v
o o o o
] —] q—] —]

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

1.10E+03
1.41E+01
3.05E+02

+—-
+—-
+—-

™ o -~ — o
82858
| +
[ < 3 I 5 I |
[aV] o 2] — —
— (aV] -— — ——
Il
[} ]
-
© — ]
S ] >
o x| < E
g 2 = — 9
n = z ) z
TTT T[T ITT[TITT[ITTTI]T
LT -
|-
#
T
I
[ .
wARENNERARRENERRRRAR.
o Te] o
I - -
| |
srenpisay

1.00

0.10

X%reqd = 49.11

Energy/keV



